

LIVINGSTON BOARD OF EDUCATION VOTING MEETING AGENDA

Tuesday, February 8, 2022
Executive Session - Hybrid Meeting - 6:30 p.m.
Public Session - Hybrid Meeting at Administration Building - 7:00 p.m.

This is a public meeting of the Board of Education. The Livingston Board of Education will be video recording and posting its open public meetings on the district website. The Board reserves the right to edit the videotape prior to posting to protect the privacy of students and staff.

The Board's Bylaw #0168 allows videotaping and livestreaming of public meetings with prior approval from the Board Secretary. Any member of the public may record the proceedings of a public meeting of the Board in a manner that does not interrupt the proceedings, inhibit the conduct of the meeting, distract Board members or other observers present at the meeting, or violate the privacy of students and staff. The Board will permit the use of tape recorder(s), video camera(s) or live streaming only when notice of such intended use has been given to the Board Secretary five days in advance of the meeting. Any camera(s) must be operated in an inconspicuous location in the meeting room. The Board reserves the right to request a copy of the tape. The presiding officer shall determine when any recording device interferes with the conduct of a Board meeting and may order that an interfering device be removed.

While the Board of Education discourages the videotaping/livestreaming of students without written parental consent, public meetings are not subject to the same restrictions as other school events. Please be aware that you and your children may be videotaped or livestreamed as a result of your participation at this meeting.

In accordance with Policy #9131, the Livingston Board of Education members, district administration, and staff will treat students, parents/guardians and other members of the public with respect and expect the same consideration in return. The district is committed to maintaining orderly educational and administrative processes in keeping schools and administrative offices free from disruptions and preventing unauthorized persons from entering school/district grounds.

I. OPEN SESSION

A. Call to Order - Mr. Seth Cohen, President

B. Reading of Meeting Notice

Adequate notice of this meeting has been provided by amendment to notice approved at the Board's reorganization meeting on January 4, 2022 and posted at the Board of Education office and communicated to *The Star Ledger, West Essex Tribune, TAPinto Livingston* and the Livingston Township Clerk.

C. Executive Session

Whereas, the Open Public Meetings Act, N.J.S.A. 10:4-11, permits the Board of Education to meet in closed session to discuss certain matters; now, therefore be it

Resolved, that the Livingston Board of Education adjourns to closed session to discuss:

Superintendent's Evaluation and Legal Settlement

Action may be taken upon return to public session. The full length of the meeting is anticipated to be approximately 30 minutes and be it

Further Resolved, the minutes of this closed session be made public when the need for confidentiality no longer exists.

ROLL CALL VOTE

D. Pledge of Allegiance / Roll Call

E. Superintendent's Report

- 1. AAPI Law Advocates
- 2. District Goals Update
- 3. Annual Comprehensive Financial Report Wiss & Company

F. Board Reports

G. Approval of Minutes

The Superintendent recommends the following:

- Voting Meeting Minutes of January 18, 2022
- 2. Public Portion of Executive Session Meeting Minutes of January 26, 2022

ROLL CALL VOTE

H. Public Input on Agenda Items ~ up to 15 minutes

An excerpt from Policy #0167 adopted on January 10, 2011 and reviewed on March 4, 2013 states that The Board of Education recognizes the value of public comment on educational issues and the importance of allowing members of the public to express themselves on school matters of community interest.

Public participation shall be governed by the following rules:

- 1. A participant must be recognized by the presiding officer and must preface comments by an announcement of his/her name, place of residence, and group affiliation, if appropriate;
- 2. Each statement made by a participant shall be limited to three minutes' duration;
- 3. No participant may speak more than once on the same topic until all others who wish to speak on that topic have been heard;
- 4. All statements shall be directed to the presiding officer; no participant may address or question Board members individually.

The portion of the meeting during which the participation of the public is invited shall be limited to fifteen minutes, or at the discretion of the presiding officer.

II. RECOMMENDATIONS FOR APPROVAL

1. PROGRAM/CURRICULUM

The Superintendent recommends the following:

1.1 <u>Textbooks/DVDs</u>

Resolved, that the Livingston Board of Education approves the novels as shown on **Attachment A.**

1.2 Student Teacher

Resolved, that the Livingston Board of Education approves the student teacher as shown on **Attachment B**.

1.3 English Language Learner Three-Year Plan

Resolved, that the Livingston Board of Education approves the English Language Learner Three-Year Plan.

ROLL CALL VOTE

2. STUDENT SERVICES

The Superintendent recommends the following:

2.1 Out of District Placements

Resolved, that the Livingston Board of Education approves placement for the academic year 2021-2022 for two (2) Livingston students with disabilities, as classified and recommended by the Child Study Team, in facilities with tuition costs to be determined within the limits established by the New Jersey Board of Education as shown on **Attachment C.**

2.2 Related Services/Medical Consultants

Resolved, that the Livingston Board of Education approves the following consultants that will be utilized to provide related services for the 2021-2022 school year:

BEHAVIORAL TRAINING & ASSISTANCE / APPLIED BEHAVIORAL ANALYSIS XYZABA, LLC \$95.00/hour

HOME INSTRUCTION

Aspire \$60.00/hour

ROLL CALL VOTE

3. BUSINESS

The Superintendent recommends the following:

3.1 Payment of Bills

Whereas, the Board Secretary has audited certain vendor claims as required by N.J.S.A. 18A:19-2 and Board Policy 6470 and presented them to the Livingston Board of Education with the recommendation they be paid, now therefore be it

Resolved, that the Livingston Board of Education approves the payment of the following bills in the amounts listed and attach a complete copy of these bills to the minutes of this meeting.

<u>Fund</u>	Name	<u>Amount</u>
10&11	Regular	11,164,228.72
12	Regular	128,273.48
20	Regular	51,173.88
	TOTAL	\$1,343,676.08

Regular Checks	95258-95669		1,343,676.08
		TOTAL	\$1,343,676.08

3.2 Board Secretary Report - December 2021

Whereas, the Livingston Board of Education has received the Report of the Board Secretary for December 31, 2021, consisting of:

- 1) Interim Balance Sheets
- 2) Interim Statements Comparing Budgeted Revenue with Actual to Date and Appropriations with Expenditures and Encumbrances to Date
- 3) Schedule of Revenues Actual Compared with Estimated
- 4) Statement of Appropriations Compared with Expenditures and encumbrances, and

Whereas, the Livingston Board of Education has received the report of the Treasurer for December 31, 2021, which report is in agreement with the Report of the Board Secretary, and

Whereas, these reports show the following balances on the date indicated:

	Cash Balance	Appropriation Balance	Fund Balance
(10) General Current Exp. Fund	19,530,758	25,718,154	
(11) Current Expense			11,830,746
(12) Capital Outlay		441,205	4,389,775
(20) Special Revenue Fund	374,910	2,212,618	
(30) Capital Projects Fund	4,543,681		
(40) Debt Service Fund	1,497,241		
Total:	25,946,590	28,371,977	16,220,521

Whereas, pursuant to N.J.A.C. 6:20-212(d), the Board Secretary has certified that as of December 31, 2021, no budgetary line item account has obligations and payments contractual orders which in total exceed the amount appropriated by the district board of education pursuant to N.J.S.A. 18A:22-8, 18A:22-8.1, now therefore be it

Resolved, the Livingston Board of Education accepts the above referenced reports and certification and directs that they be made part of this resolution by reference, and be it

Further Resolved, the Livingston Board of Education certifies that, after review of the Secretary's monthly financial report (appropriations section) and upon consultation with the appropriate district officials, to the best of its knowledge no major account or fund has been over-expended in violation of N.J.A.C.6:20-2.13(d) and that sufficient funds are available to meet the district's financial obligations for the remainder of the fiscal year.

3.3 Transfers

Whereas, the Superintendent of Schools recommends certain transfers among accounts in the 2021-2022 budget for December pursuant to Board of Education Policy 6422, now therefore be it

Resolved, that the Livingston Board of Education ratify transfers pursuant to N.J.S.A. 18A:22-8.1 and N.J.A.C. 6:20-2A.10:

<u>Object</u>	<u>Description</u>	To	<u>From</u>
590	Misc. Purchased Serv.		1,500
600	Supplies and Materials	1,500	
610	General Supplies	1,000	
640	Textbooks		1,000
	TOTALS	\$2,500	\$2,500

3.4 Committee Assignments

Resolved, that the Livingston Board of Education approves the president's designation of *Seth Cohen* as the board's representative to the Essex Regional Educational Services Commission for 2022.

3.5 Approval of Annual Comprehensive Financial Report

Resolved, that the Livingston Board of Education accepts the June 30, 2021 audit report.

3.6 Settlement Agreement

Resolved, that the Livingston Board of Education approves the Settlement Agreement for Case #01-2022 which is on file at the Board of Education office.

3.7 <u>Hunterdon County Educational Services Commission Cooperative Pricing</u> Agreement

Resolved, that the Livingston Board of Education approves entering into a cooperative pricing agreement with the Hunterdon County Educational Services Commission as shown on **Attachment D**.

3.8 Conferences and Overnight Trips

Resolved, that the Livingston Board of Education approves three coaches to chaperone qualifying members of the Livingston High School Varsity Wrestling team to attend the NJSIAA Individual State Championships in Atlantic City from March 2 to March 5, 2022.

ROLL CALL VOTE

4. PERSONNEL

The Superintendent recommends the following:

4.1 Resignations

Resolved, that the Livingston Board of Education accepts the resignations of:

Name	Position	Reason	Location	Last Day of Employment
Jeffrey Wieboldt	Teacher of Math	Retirement	LHS	June 30, 2022
Linda Kleban	Teacher of Art	Retirement	LHS	June 30, 2022

Maureen Oswald	Intervention/ Enrichment Specialist	Retirement	Harrison	June 30, 2022
Victoria Risorto Teacher of Business Ed		Resignation	HMS	March 25, 2022
Samantha Engel Teacher of Social Studies		Resignation	LHS	March 31, 2022
Jamal Chavis	ABA Discrete Trial TA	Resignation	ВНЕ	February 11, 2022
Karen Barling	Playground Aide	Resignation	ВНЕ	January 28, 2022

^{*}as amended from a previous agenda

4.2 Leaves of Absences

Resolved, that the Livingston Board of Education approves the leaves of absences of:

Name	Location	Position	LOA w/pay and benefits	LOA w/o pay, but with benefits (if applicable)	Extended LOA w/o pay or benefits	Return Date
Gregory Peters	HMS	Teacher of Science	2/14/2022- 3/18/2022**	3/21/2022- 5/20/2022**	NA	5/23/2022
Sofia Haskell	ВНЕ	Teacher of Spanish	11/29/2021- 2/3/2022	2/4/2022- 2/10/2022 & 2/11/2022- 5/20/2022**	NA	5/23/2022
Robert Brenneck*	со	IT Support Specialist	NA	4/21/2022- 5/13/2022**	NA	5/16/2022
Jenna McCarthy	nna McCarthy LHS		3/14/2022- 5/30/2022	5/31/2022- 10/28/2022**	NA	10/31/2022

^{*}as amended from a previous agenda

4.3 **Appointments**

Resolved, that the Livingston Board of Education approves the applications indicated below (*) for emergent hiring for the following appointments under the requirements of N.J.S.A. 18A:16-1 et. seq., N.J.S.A. 18A:39.17 et. seq.; N.J.S.A. 18A:6-4.13 et. seq. All appointments are contingent upon reference checks in accordance with P.L. 2018, c.5.

Name	Location	Title	Tenure Track/LOA or LT Replacement	Replacing	Guide	Step	Salary	Effective Date
Elena Cannarozzi	LHS	Teacher of Math	Leave Replacement	P. Catalano/ P. Peklo	ВА	1	\$54,550 (prorated)	1/3/2022
Samantha Da Silva	LHS	Teacher of Social Studies	Leave Replacement	K. Picardo	ВА	1	\$54,550 (prorated)	1/3/2022
Jordan Virgil	HMS	Teacher of English	Leave Replacement	B. Moghadam niya	МА	1	\$61,884 (prorated)	3/15/2022 or earlier if released from current district

^{**}Designates time counted toward NJFLA/FMLA

Daniel Quackenbush*	LHS	Teacher of Business Ed.	First Year Tenure Track	M. Wohltmann	MA+32	13	\$97,308 (prorated)	2/16/2022
Alyssa Ratner*	HIL/COL	TOSD	First Year Tenure Track	NA	ВА	1-2	\$54,550 (prorated)	1/10/2022
Smruti Shah*	HMS/LHS	Teacher of ESL	First Year Tenure Track	L. Brown	MA	9	\$72,562 (prorated)	1/25/2022
Joanne O'Donnell*	Transportation	Bus Driver	NA	W. Ablard	BD	5	\$24,588 (prorated)	1/18/2022

^{*}as amended from a previous agenda

Resolved, that the Livingston Board of Education approves the appointment of the ABA Discrete Trial TA's and Instructional Aides as listed on **Attachment E.**

4.4 Transfers

Resolved, that the Livingston Board of Education approves the transfers as listed on **Attachment F.**

4.5 Substitutes

Resolved, that the Livingston Board of Education approves the appointment of the individuals listed below to serve as substitutes on an as-needed basis for the 2021-2022 school year:

Teachers

Bradley Gerstle Alexa Malone John Mansfield Owen McFadden Gabriella Mattia

Secretarial

Colleen Currao (\$17.50/hr)

Resolved, that the Livingston Board of Education approves the individuals listed on **Attachment G** as certified substitutes. These individuals are currently employed by the District. In the event these individuals are called upon to serve as a substitute, they will be compensated an additional \$50/day (\$10/period) for that assignment.

4.6 Extra Work Pay

Resolved, that the Livingston Board of Education approves the following payments as listed on **Attachment H** for work performed.

4.7 Extra Period Assignments

Resolved, that the Livingston Board of Education approves the individuals listed on **Attachment I** for extra period assignments during the 2021-2022 school year.

4.8 Longevity

Resolved, that the Livingston Board of Education approves the individuals listed on **Attachment J** for longevity effective and retroactive to February 1, 2022.

4.9 Stipends

Resolved, that the Livingston Board of Education approves the individuals on **Attachment K** for athletic stipends at Livingston High School for the 2021-2022 school year in accordance with the contract between the LBOE and the LEA.

Resolved, that the Livingston Board of Education approves the individuals on **Attachment L** for co-curricular stipends at Livingston High School for the 2021-2022 school year in accordance with the contract between the LBOE and the LEA.

Resolved, that the Livingston Board of Education approves the individuals on **Attachment M** for co-curricular stipends at Heritage Middle School for the 2021-2022 school year in accordance with the contract between the LBOE and the LEA.

Resolved, that the Livingston Board of Education accepts the resignation of *Priti Peklo* from the stipend position of *Class of 2022 (Senior Class) Advisor* for Livingston High School for the 2021-2022 school year effective January 28, 2022.

4.10 Mentor Fees

Resolved, that the Livingston Board of Education approves the individuals on **Attachment N** listed as assigned mentors to receive payment in accordance with the schedule listed.

ROLL CALL VOTE

5. MISCELLANEOUS

The Superintendent recommends the following:

5.1 HIB Report

Resolved, that the Livingston Board of Education accepts the findings of HIB cases.

ROLL CALL VOTE

J. Public Comment ~ up to 15 minutes

An excerpt from Policy #0167 adopted on January 10, 2011 and reviewed on March 4, 2013 states that The Board of Education recognizes the value of public comment on educational issues and the importance of allowing members of the public to express themselves on school matters of community interest.

Public participation shall be governed by the following rules:

- 1. A participant must be recognized by the presiding officer and must preface comments by an announcement of his/her name, place of residence, and group affiliation, if appropriate;
- 2. Each statement made by a participant shall be limited to three minutes' duration;
- 3. No participant may speak more than once on the same topic until all others who wish to speak on that topic have been heard;
- 4. All statements shall be directed to the presiding officer; no participant may address or question Board members individually.

The portion of the meeting during which the participation of the public is invited shall be limited to fifteen minutes, or at the discretion of the presiding officer.

K. Old Business

L. New Business

III. ADJOURNMENT

EXECUTIVE SESSION

Whereas, N.J.S.A. 10:4-1 et seq., also known as the "Sunshine Law," authorizes a public body to meet in executive or private session under certain limited circumstances, and

Whereas, said law requires the Board to adopt a resolution at a public hearing before it can meet in such an executive or private session, now, therefore, be it

Resolved, by the Livingston Board of Education that:

- (A) It does hereby determine that it is necessary to meet in executive session on February 8, 2022 to discuss the matters stipulated, in conformance with the subsections of said act which are indicated.
 - 1. Matter rendered confidential by federal law, state statute or rule of court.
 - 2. Matter in which the release of information would impair a right to receive federal funds.
 - 3. Matter, the disclosure of which would constitute an unwarranted invasion of individual privacy unless the individual concerned shall request in writing that the same be disclosed publicly.
 - 4. Collective bargaining matter.
 - 5. Matter involving the purchase, lease or acquisition of real property with public funds, the setting of banking rates, etc. where it would adversely affect the public interest if discussion were disclosed.
 - Tactics and techniques utilized in protecting public property where disclosure could impair protection.
 - 7. Investigation of violations or possible violations of law.
 - 8. Pending or anticipated litigation or contract negotiation other than collective bargaining agreement.
 - 9. Personnel matters unless the individual employees or appointees affected requested that such matter be discussed at a public meeting.
 - 10. Deliberations occurring after a public hearing that may result in the imposition of a specific civil penalty.
- (B) The matters discussed will be made public when confidentiality is no longer required and formal action pursuant to said discussion shall take place only at a meeting to which the public has been invited.
- (C) No action will be taken.

PROPOSED FUTURE AGENDA ITEMS (dates subject to change)

March 8, 2022 (workshop)

- Introduction of Budget/Budget Presentation
- Calendar Discussion 2023-2024

March 15, 2022 (voting)

Adoption of Tentative Budget

April 5, 2022 (workshop)

Budget Discussion

April 26, 2022 (Public Hearing/Voting)

- Transportation Contracts
- Subscription Bus Pricing

May 10, 2022 (Executive Session on Personnel)

May 12, 2022 (Workshop/Voting)

- Conference with the Livingston Education Association
- Personnel Appointments

May 24, 2022 (voting)

- Annual Appointments
- Sale of SRECs
- Out of District Tuition Rates
- New Jersey State Interscholastic Athletic Association
- YMCA Contract

June 7, 2022 (workshop)

- Retirement Ceremony
- SEPAC

June 21, 2022 (voting)

- Superintendent Summer Approval to Hire
- Student Representative to the Board
- Summer Work Appointments
- Curriculum Writer Names and Locations
- Summer Project Appointments
- Compliance with PL 2015, Chapter 47
- Transfer of Current Year Surplus to Capital Reserve

July 12, 2022 (voting)

- Property, Liability and WC Insurance
- Food Service Renewal
- Out of District Placements for 2022-2023
- Related Services and Medical Consultants for 2022-2023
- Extended School Year Out of District Placements Summer 2022

August 9, 2022 (voting)

- Enrollment Update
- Travel and Conferences Expenses
- Livingston Chinese School Contract
- Livingston Huaxia Chinese School Contract
- SWING Education Agreement

September 6, 2022 (workshop)

September 20, 2022 (voting)

- District Goals
- District Nursing Services Plan

October 11, 2022 (workshop)

NJSLA (as per Policy 2610)

October 18, 2022 (voting)

- Conference with the Livingston Education Association
- Summer Curriculum Writing Update

November 8, 2023 (workshop)

Board Budget Goals

November 22, 2022 (voting)

Assessment Update

December 6, 2022 (voting)

- National Merit Semi-Finalists Recognition Ceremony
- Public Hearing for District and School HIB Self-Assessment Report
- New Course Offerings

January 3, 2023 (reorganization)

PROGRAM/CURRICULUM

<u>Title</u>	Author/Publisher	<u>Year</u>	<u>Grade</u>	Subject/Course	Rationale
The Witch Boy	Molly Knox Ostertag Graphic Scholastic	2017	5	ELA	From the illustrator of the web comic Strong Female Protagonist comes a debut middle-grade graphic novel about family, identity, courage and Magic. Context of use: InteractiveRead-Aloud for Fantasy Unit of Study. With the goal of a future Mini-Graphic Novel Unit, this text would be also serve as an Interactive Read-Aloud.
White Bird: A Wonder Story	R.J. Palacio Knopf for Young Readers	2019	5	ELA	Inspired by her blockbuster phenomenon <i>Wonder</i> , R.J. Palacio Makes her graphic novel debut with an unforgettable, Sydney Taylor Book Award-winning story of the power of kindness and unrelenting courage in a time of war. It tells the hardest truths with honesty and calm (so that young readers can hear them). R.J. Palacio brings to life the nature of heroism and the real risks we face today.

Name	School	Type of Placement	In-District Location	Assigned Staff	Date
Danielle Roger	William Paterson University	Clinical	LHS	Sue Cufner/MaryAnn Dellosa	2.4.2022

				School Year 2021-2022			Extraordinary Services			Extended School Year			
School	Program Type	Iype	# of Stud	Tuition 2021- 2022	Total Tuition	# of Stud		Aide(s)	# of Stud	ESY Tuition	Total ESY Tuition	I	otal School
Pillar Care Continuum - Pillar Elementary School	Preschool Disabilities	N	2	\$ 39,804.45	\$ 79,608.90	2	\$ 22,575.00	\$ 45,150.00				\$	124,758.90
Total			2		\$ 79,608.90	2		\$ 45,150.00				\$	124,758.90

<u>Type</u>

Renewal (R) indicates that the student has been at that OOD school and is continuing to be placed there.

New (N) indicates that the student is a newly placed OOD student or an additional service has been added.

Transfer (T) indicates that the student has been OOD, but has transferred to another OOD school. New to District (ND) indicated that the student moved in and was already placed OOD.

RESOLUTION FOR MEMBER PARTICIPATION IN A COOPERATIVE PRICING SYSTEM

A RESOLUTION AUTHORIZING THE LIVINGSTON BOARD OF EDUCATION TO ENTER INTO A COOPERATIVE PRICING AGREEMENT

RESOLUTION NUMBER 3.7

WHEREAS, N.J.S.A. 40A:11-11(5) authorizes contracting units to establish a Cooperative Pricing System and to enter into Cooperative Pricing Agreements for its administration; and

WHEREAS, the Hunterdon County Educational Services Commission, hereinafter referred to as the "Lead Agency" has offered voluntary participation in a Cooperative Pricing System for the purchase of goods and services:

WHEREAS, on February 8, 2022, the governing body of the Livingston Board of Education, County of Essex, State of New Jersey duly considered participation in a Cooperative Pricing System for the provision and performance of goods and services;

NOW, THEREFORE BE IT RESOLVED as follows:

TITLE

This RESOLUTION shall be known and may be cited as the Cooperative Pricing Resolution of the Livingston Board of Education.

AUTHORITY

Pursuant to the provisions of N.J.S.A. 40A:11-11(5), the Business Administrator is hereby authorized to enter into a Cooperative Pricing Agreement with the Lead Agency.

CONTRACTING UNIT

The Lead Agency shall be responsible for complying with the provisions of the *Local Public Contracts* Law (N.J.S.A. 40A:11-1 et seq.) and all other provisions of the revised statutes of the State of New Jersey.

EFFECTIVE DATE

This resolution shall take effect immediately upon passage.

CERTIFICATION

BY:	
=	Seth Cohen, President of the Livingston Board of Education
ATTEST BY:	
!==	Michael Davison, Business Administrator

Last Name	First Name	LOC	Job Title	Step	Guide	Salary	Effective Date
KRAVETZ	PAMELA	COL	INSTRUCTIONAL AIDE	1	I&KA	\$25,717 (pro-rated)	1/24/2022

2021-22 TRANSFERS

Name	Transferring From	Location	Transferring To	Location	Replacing	Effective Date
Kelly Correia	Teacher	MPE	Teacher	RHE	J. Carsillo	1/18/2022
Jacqulyn Carsillo	Teacher	RHE	Teacher	MPMS	TBD	1/18/2022
Samantha Minniti	Kindergarten Teacher	Collins	Kindergarten Teacher	RHE	M. Rosario	2/14/2022

LOCATION	LAST NAME	FIRST NAME
Hillside	Davner	Maxine
Hillside	Hanna	Megan
Heritage	Novotny	Laura

			#HOURS		TOTAL
NAME	DATE	POSITION	WORKED	RATE	AMOUNT
Alessio, Kaen	12/21/2021	Game Worker/Basketball	2.25	\$22.50	\$50.63
	1/11/2022	Game Worker/Basketball	2	\$22.50	\$45.00
	1/12/2022	Game Worker/Basketball	2	\$22.50	\$45.00
Blount, Joanne	1/15/2022	Game Worker/Basketball	3	\$22.50	\$67.50
Cuneo, Ernie	1/19/2022	Game Worker/Wrestling	4	\$22.50	\$90.00
Duffy, Marjorie	10/1/2021	Game Worker/Football	3	\$22.50	\$67.50
	10/22/2021	Game Worker/Football	4.5	\$22.50	\$101.25
	1/6/2022	Game Worker/Fencing	2	\$22.50	\$45.00
	1/15/2022	Game Worker/Basketball	4.5	\$22.50	\$101.25
	1/18/2022	Game Worker/Fencing	2	\$22.50	\$45.00
Dezama, Brad	9/9/2021	Game Worker/soccer	2	\$22.50	\$45.00
	9/25/2021	Game Worker/soccer	2	\$22.50	\$45.00
	10/19/2021	Game Worker/soccer	2	\$22.50	\$45.00
	10/23/2021	Game Worker/soccer	2	\$22.50	\$45.00
	11/27/2021	Game Worker/hockey	2	\$22.50	\$45.00
	12/11/2021	Game Worker/hockey	2	\$22.50	\$45.00
Gillo, Rob	1/12/2022	Game Worker/Wrestling	4	\$22.50	\$90.00
Gillock, Joanne	1/6/2022	Game Worker/basketball	2.5	\$22.50	\$56.25
	1/12/2022	Game Worker/wrestling	2	\$22.50	\$45.00
	1/15/2022	Game Worker/basketball	3	\$22.50	\$67.50
Goldberg, Joann	1/8/2022	Game Worker/basketball	3.25	\$22.50	\$73.13
Held, Nancy	1/4/2022	Game Worker/basketball	2.5	\$22.50	\$56.25
	1/13/2022	Game Worker/basketball	2.75	\$22.50	\$61.88
	1/15/2022	Game Worker/wrestling	2.5	\$22.50	\$56.25
	1/19/2022	Game Worker/wrestling	2.5	\$22.50	\$56.25
Homberg, Cathy	1/4/2022	Game Worker/Basketball	2.5	\$22.50	\$56.25
	1/6/2022	Game Worker/Basketball	2.5	\$22.50	\$56.25
	1/18/2022	Game Worker/Basketball	2.25	\$22.50	\$50.63
Lieberman, Theresa	12/17/2021	Game Worker/basketball	2	\$22.50	\$45.00
	1/8/2022	Game Worker/basketball	3.25	\$22.50	\$73.13
	1/18/2022	Game Worker/basketball	2.25	\$22.50	\$50.63
Lukowiak, Stuart	12/18/2021	Security/Fencing	7	\$25.00	\$175.00
	1/15/2022	Security/wrestling	6	\$25.00	\$150.00
Mensch, Jodi	11/2/2021	Game Worker/soccer	2.5	\$22.50	\$56.25
Rigas, Pat	12/17/2021	Game Worker/basketball	2.25	\$22.50	\$50.63

	1/13/2022	Game Worker/basketball	2.75	\$22.50	\$61.88
Rulka, Katey	1/11/2022	Game Worker/basketball	2.75	\$22.50	\$61.88
Shue, Richard	12/7/2021	Game Worker/basketball	1.75	\$22.50	\$39.38
	12/9/2021	Game Worker/basketball	1.75	\$22.50	\$39.38
	12/11/2021	Game Worker/basketball	2.25	\$22.50	\$50.63
	12/17/2021	Game Worker/basketball	3.5	\$22.50	\$78.75
	12/21/2021	Game Worker/basketball	3.25	\$22.50	\$73.13
	1/4/2022	Game Worker/basketball	3.25	\$22.50	\$73.13
	1/6/2022	Game Worker/basketball	3.25	\$22.50	\$73.13
	1/8/2022	Game Worker/basketball	3.5	\$22.50	\$78.75
	1/11/2022	Game Worker/basketball	3.25	\$22.50	\$73.13
	1/13/2022	Game Worker/basketball	3.25	\$22.50	\$73.13
	1/15/2022	Game Worker/basketball	4.75	\$22.50	\$106.88
Sullivan Ioo	12/0/2021	Coorreits / books thall	4.05	+55.00	
Sullivan, Joe	12/9/2021	Security/basketball	1.25	\$25.00	\$31.25
	12/17/2021	Security/basketball	4	\$25.00	\$100.00
Sullivan, Margaret	12/21/2021	Game Worker/basketball	2.5	\$22.50	\$56.25
	1/19/2021	Game Worker/wrestling	2.5	\$22.50	\$56.25

\$3,381.25

Name	Position	Location	# of classes	Dates
Guy Rabner	Teacher of Italian	LHS	0.2	2/7/2022-3/14/2022
Teresa Fannell	Teacher of Spanish/Italian	LHS	0.2	2/7/2022-3/14/2022
Susana Fernandez-Poyatos	Teacher of Spanish	LHS	0.2	2/7/2022-3/14/2022
Oscar Benavides	Teacher of Spanish	LHS	0.2	2/7/2022-3/14/2022
Carmen Michael	Teacher of Spanish	LHS	0.2	2/7/2022-3/14/2022
Christina DeLuna*	Teacher of Math	LHS	0.2	9/1/2021-2/3/2022
Leslie Keeble*	Teacher of Math	LHS	0.2	9/1/2021-2/3/2022
Michael Ladolcetta*	Teacher of Math	LHS	0.2	9/1/2021-2/3/2022
Kelly Rocco*	Teacher of Math	LHS	0.2	9/1/2021-2/3/2022
Taylor Torre*	Teacher of Math	LHS	0.2	9/1/2021-2/3/2022
James Page	Teacher of Math	LHS	0.2	1/28/2022-4/1/2022
Jessica Rettagliata	Teacher of Biology	LHS	.25	2/4/2022 - 6/30/2022
Diane Sigalas	Teacher of Biology	LHS	.25	2/4/2022 - 6/30/2022
Paul Raiz	Teacher of Biology	LHS	.5	2/4/2022 - 6/30/2022
Matthew Cheng	Teacher of Comp Sci	LHS	0.2	2/14/2022 - TBD
Corey Yersak	Teacher of Tech Ed	LHS	0.2	2/14/2022 - TBD
David Richards	Teacher of Tech Ed	LHS	0.2	2/14/2022 - TBD
Brian Megaro	Teacher of Tech Ed	LHS	0.2	2/14/2022 - TBD
Ryan Karpack	Teacher of Tech Ed	LHS	0.2	2/14/2022 - TBD

^{*}amended from previous agenda

Longevity

Effective February 1, 2022

30 Years of Service

Jean Murray Connell

25 Years of Service

David Mead Suzanne Steckert

20 Years of Service

Allison Barbag Caryn Lori Perez Dr. Nancy Petryna

Sport	Title	Amount	First Name	<u>Last Name</u>
Fencing	Assistant	\$7,624	Christy	Hernandez (OD)
Boys Lacrosse	Assistant	\$8,259	Michael	Murray (OD)
Girls Lacrosse	Assistant	\$8,259	Kelly	Nann
Strength Training Spring		\$3,177	Robert	Breschard
Strength Training Spring		\$3,177	James	Matsakis (OD)
Intramural Coach		\$38.51/hr	Cara	Dlugo
Intramural Coach		\$38.51/hr	Michael	Munley
Intramural Coach		\$38.51/hr	David	Jones
Game Worker			Ashley	Addison
Game Worker			Karen	Alessio
Game Worker			Ron	Barbella (OD)
Game Worker			Robert	Gillo

LIVINGSTON HIGH SCHOOL CO-CURRICULAR STIPENDS							
Position	Position # of Positions 2021/2022 Amount Approved 2021/2022						
Class of 2022 Advisor (Senior Class)		\$1,588.50	Kelly Rocco (1/2)				

HMS CO-CURRICULAR STIPENDS					
SPRING MUSICAL					
Technical Director of Stage Crew		\$1,271	Jamie Geltzeiler		

			2021-	2022		
	in .	Ne	w Employees Re	quiring Mentoring		
<u>Teachers</u>						
Last Name	First Name	Position	School	Assigned Mentor	Fee	Comments
Da Silva	Samantha	Teacher of Social Studies	LHS	Vanessa Stock	\$330	First 18 weeks